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expression obtained for £y from the previous step
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oblem 4 (15 points)

L) ions:
: : ing switching functi o
o would like to verify that the PLA {mplementation shown here implements the following : g |
23 = be + bd + ac’ o
22=be+bd+bed

" IENES
AND Array B !

b - programmable connection

Z3: 22" 7ilia0

L - connection made

L. (7 points) Analyze the PLA shown above and show the output expressions.
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2. (8 points) Is the PLA implementation correct? If not, find errors and show the correct implementation
s < 4 D 44 l ;
(cross out wrong connections and insert correct ones)
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s “has constants L and O are available :
" n are using o the proof, and explicitly show the implementation for
", owira | oand. or O 28 nesded. For example, you can assign a=0 and b=1 in the
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zero-set.
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2. (4 Points) Which of th
apply. Do not circle

© given expressions are prime implicants of the function given above? Circle all that
implicants that are not prime.
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. (2 points) Write down the minimal sum of products expressions for f. If there are multiple forms of minimal

sum of products expressions, you only need to write down one of them.
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